-3 -3
G O.ZXLO T i Tl N 0.2?10 N N T
o : : & F ] ; ;
A 0.5 113 : HiFA 8O0.A5E [ £ [ E{{ ¥t |
. : : C : f : :
o 0.3 1 v OBt R T 2 | R
v f B I : :
0.05f 0.05F- E T ISRE
of i of AR Sl R
¥ gt E : :
-0.05[- TRt -0.05F ; i | S
0.4y 1 : -0.1 i e
» . 8| .
-0.15( l —0.15F -t Hf - EEr g R SR
©-0.2frith | I L | ©-0.2
G 4 R i
o o
2 2fff]
1 4 b i :
% 2 -1 06 1 2 3 % 2 3
TP r] (PCA to beamline) TP n (PCA to beamline)
—— %g :E egé %ﬁé%‘ﬁ FEORSLTLIER 1000evt
é:: 100 g 100
| N
& 60fr 2“
kel
40
v \%
-20
-40
—-60]
_80 L
g '
T
o
2 3 3
TP n (PCA to beamline) TP n (PCA to beamline)
S
A
-
Q.
;_»—
o
\%
i)
3
o

2 3
TP n (PCA to beamline)



	Contents
	Page 1


